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IOC115 - Results (permeabilized cells)
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IOC115 - Results (_intact ceIIs_)
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IOC115 - Results (_intact ceIIs_)
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IOC115 - Results (_intact ceIIs_)
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IOC115 - Results (_intact ceIIs_)
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IOC115 - Results (_intact ceIIs_)
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Results:
Mitochondrial respiration and
H202 production in intact
cells



I0C115 - Results (intact cells) - ROS production
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I0C115 - Results (intact cells) - ROS production
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I0C115 - Results (intact cells) - ROS production Prnitorit @:
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I0C115 - Results (intact cells) - ROS production Phnitorit @
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I0C115 - Results (intact cells) - ROS production
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I0C115 - Results (intact cells) - ROS production
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I0C115 - Results (intact cells) - ROS production
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Permeabilized cells
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